

$$\mathcal{D}(P)^{-1/2} n(c)^{-r/2}$$

also

$$J|A = \int_{\text{ver}} n(c)^{r/2} i^{-rn/2} \mathcal{D}(cP)^{-1/2}$$

$$\times \sum_{\tilde{v} \in \tilde{P}/P} e^{-\pi i t_h (+2b v \cdot w + t d w^2)} \sum_{\tilde{v} \in \tilde{P}/P} e^{\pi i t_h \frac{a}{c} \tilde{v}^2} \quad \int_{\text{ver}}$$

E) $\int \mathcal{D}(cP) \# P/P^2 = \mathcal{D}(P)$

und $\# P/P = |n(c)|^r$ (Sei $P_1 \supseteq P$ mit $P_1 \cong \mathcal{O}^r$, dann

$P \subseteq P_1$ \hookrightarrow $cP_1 \subseteq P_1$ \hookrightarrow $P_1/cP_1 \cong (\mathcal{O}/c)^r$
 \hookrightarrow $cP \subseteq P_1$ \hookrightarrow $P/cP \cong (\mathcal{O}/c)^r$

$$\text{mit } n(c)^{r/2} \mathcal{D}(cP)^{-1/2} = \frac{n(c)^{r/2}}{|n(c)|^r} \mathcal{D}(P)^{1/2}$$

Dann da Kovler

Setz in die Summe $S = \sum_{\substack{\tilde{v} \in \tilde{P}/P \\ \tilde{v} \equiv v + dw(P)}} e^{\pi i t_h \frac{a}{c} \tilde{v}^2}$ jetzt $\tilde{v} + c v_0 \rightarrow \tilde{v}$,
 $\tilde{v} \equiv v + dw(P)$
 $\underbrace{c v_0 \in P}_\text{denn}$

$$S = \sum_{\substack{\tilde{v} \in \tilde{P}/P \\ \tilde{v} \equiv v + dw(P)}} e^{\pi i t_h \frac{a}{c} \tilde{v}^2} e^{\pi i t_h (2a \tilde{v} \cdot v_0 + a c v_0^2)}$$

$$= e^{\pi i t_h (2a (v+dw) v_0 + a c v_0^2)} S$$

Neh mir jetzt an, dass $\text{trac } v_0^2 \in \mathbb{Z} \forall v_0 \in \tilde{P}$, so
 $S \neq 0$ hie\u00dfen f\u00fcr $\frac{a v + a d w}{r} \equiv a v + w \in P$, und so

$$J|A = \int_{\text{ver}} \mathcal{D}(P)^{-1/2} n(c)^{-r/2} e^{\pi i t_h (2ab v^2 - abd^2 v^2)} \sum_{\tilde{v} \in \tilde{P}/P} e^{\pi i t_h \frac{a}{c} \tilde{v}^2} \quad \int_{\text{ver}}$$